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Most Expected 250 Questions \

“Z @Reasoningbybasantsir

Statements:

All shirts are skirts. No skirt is top.
All tops are kurta.

Conclusions:

I. All shirts are kurta

I1I. Some kurta are skirts.

(1) If only conclusion I follows.

(2) If only conclusion II follows.

(3) If either conclusion I or II follows.
(4) If neither conclusion I nor 1I follows.
(5) If both conclusions I and II follow.



Most Expected 250 Questions \

“Z @Reasoningbybasantsir

Statements:

Some chocolate are chips.

Some chips are jelly.

All jelly are whoppers.

Conclusions:

I. Some jelly are chips.

I1. All chocolate being whoppers is a possibility.

(1) If only conclusion I follows.

(2) If only conclusion II follows.

(3) If either conclusion I or II follows.
(4) If neither conclusion I nor 1I follows.
(5) If both conclusions I and II follow



Most Expected 250 Questions \

“Z @Reasoningbybasantsir

Statements:

Some frooti are maaza.

No maaza is slice.

All slice are fanta.

Conclusions:

I. Some frooti are definitely not slice.
I1. Some fanta are definitely not maaza.

(1) If only conclusion I follows.

(2) If only conclusion II follows.

(3) If either conclusion I or II follows.
(4) If neither conclusion I nor II follows.
(5) If both conclusions I and II follow



Most Expected 250 Questions \

“Z @Reasoningbybasantsir

Statements:

All carbon are oxygen.

All Nitrogen are carbon.

Some oxygen are Sulphur.

Conclusions:

I. All Nitrogen being Sulphur is a possibility.
I1. All Nitrogen are not oxygen.

(1) If only conclusion I follows.

(2) If only conclusion II follows.

(3) If either conclusion I or II follows.
(4) If neither conclusion I nor II follows.
(5) If both conclusions I and II follow



Most Expected 250 Questions \

“Z @Reasoningbybasantsir

Statements:

All September are October.

No October is November.

No November is December.
Conclusions:

I. Some September are not Novembers.
II. No October is December.

(1) If only conclusion I follows.

(2) If only conclusion II follows.

(3) If either conclusion I or II follows.
(4) If neither conclusion I nor II follows.
(5) If both conclusions I and II follow



Most Expected 250 Questions

«7 @Reasoningbybasantsir

Which of the following symbols should replace
the question mark in the given statement in
order to make conclusion ‘S > O’ definitely true?
S21?V=02B>E

e) None of these



Most Expected 250 Questions
Which statement should be placed in the blank

spaces respectively( from left to right)?
If Z<Y is true,then < < =

a) XZTY
b) XZYT
c) XYTZ
d)ZXTY
e) YXZT

«7 @Reasoningbybasantsir



Most Bpected 250 Questions

«7 @Reasoningbybasantsir

In the following question, how to place the
symbols so that both the conditions, R > G and N
< F, definitely hold true when all the expressions
are considered together?

R_ E>W<KXsFFW_S$>G;X2U_ N



Most Expected 250 Questions \\

«7 @Reasoningbybasantsir

What will come in the place of question

mark (?) in the given statementif4 >8and 9 =26
is definitely true?

4>25>9(?)827=6

a) =
b) 2
c) >
d) <
e) Either=or 2



Most Expected 250 Questions \\

IBPS

What will come in the place of question mark (?)
in the given statement if 4 > 8 is definitely

true?

2>3=425(?)6=728

«7 @Reasoningbybasantsir
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A,B,C,D,E, F, G and H are eight members
standing in a row (not necessarily in the same order)
facing north. C and B have as many members
between them as G and C have between them. D,
who is 4th from the extreme left end, is 2nd to the
left of E. G is 3rd from one of the extreme ends.
Neither B nor C sits any extreme end. F sits
immediate to the right of A.
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Most Expected 250 Questions

@Reasoningbybasantsir

A,B,C,D,E, F, G and H are eight members
standing in a row (not necessarily in the same order)
facing north. C and B have as many members
between them as G and C have between them. D,
who is 4th from the extreme left end, is 2nd to the
left of E. G is 3rd from one of the extreme ends.
Neither B nor C sits any extreme end. F sits
immediate to the right of A.

How many persons sit between G and B?

(1) One

(2) Three

3) Two

(4) Four

(5) None of these



Most Bqpected 250 Questions

«7 @Reasoningbybasantsir

A,B,C,D,E, F, G and H are eight members
standing in a row (not necessarily in the same order)
facing north. C and B have as many members
between them as G and C have between them. D,
who is 4th from the extreme left end, is 2nd to the
left of E. G is 3rd from one of the extreme ends.
Neither B nor C sits any extreme end. F sits
immediate to the right of A.

Who among the following pairs of persons sits

at extreme ends?

MHAG

2) B, C

B)F,H

4H A

(5) None of these



Most Bqpected 250 Questions

@Reasoningbybasantsir

A,B,C,D,E, F, G and H are eight members
standing in a row (not necessarily in the same order)
facing north. C and B have as many members
between them as G and C have between them. D,
who is 4th from the extreme left end, is 2nd to the
left of E. G is 3rd from one of the extreme ends.
Neither B nor C sits any extreme end. F sits
immediate to the right of A.

Who sits second to the right of E?

(1)B

2)H

A G

4 C

(5) None of these



Most Expected 250 Questions

@Reasoningbybasantsir

A,B,C,D,E, F, G and H are eight members
standing in a row (not necessarily in the same order)
facing north. C and B have as many members
between them as G and C have between them. D,
who is 4th from the extreme left end, is 2nd to the
left of E. G is 3rd from one of the extreme ends.
Neither B nor C sits any extreme end. F sits
immediate to the right of A.

Who sits third to the left of G?

(DA

(2) None

Q) F

4D E

3B



Most Expected 250 Questions

@Reasoningbybasantsir

A,B,C,D,E, F, G and H are eight members
standing in a row (not necessarily in the same order)
facing north. C and B have as many members
between them as G and C have between them. D,
who is 4th from the extreme left end, is 2nd to the
left of E. G is 3rd from one of the extreme ends.
Neither B nor C sits any extreme end. F sits
immediate to the right of A.

Who sits immediate to the left of C?

(DA

2)H

3G

@D

(5) None of these
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There are eight professors i.e. J, K, L, M, N, O, P and Q. They
take lectures in the month of March, April, May and June on
two different dates 15 and 22. Each professor takes only one
lecture on each date. K’s takes lecture on the odd date and in
the month of having 30 days. The number of lectures taken
before K is the same as the number of lectures taken after P.
Both L and O take lectures in the same month, but that month
is not March. One lecture takes between O and M, who takes
lecture after O. One lecture takes between K and Q, who does
not take lecture in March month. More than three lectures are
taken between P and N.
316 MBI 2 31U J, K, L, M, N, O, P 3R QI 3 HT=I, 3, {3
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foTT 77U SaEATAT Rt AT P o g ToU T ST hi G&AT &
THT Bl L 3R O 1 Ueh &1 AE A W AT oI 8, (i{ch 98
HEAT 7T TE1 81 Teh eierek Q 3TR M o &1l 2iaT g, A1 O o 918
HFIR AT 2| Ueh K 2R Q o =<1 BiaT &, Sl el Wei o
giaaﬂ%"fﬁ‘cn%l P 3R N & s=r di= @ 31feres sarea fero o

|




Most Bqpected 250 Questions

@Reasoningbybasantsir

There are eight professors i.e. J, K, L, M, N, O, P and Q. They
take lectures in the month of March, April, May and June on
two different dates 15 and 22. Each professor takes only one
lecture on each date. K’s takes lecture on the odd date and in
the month of having 30 days. The number of lectures taken
before K is the same as the number of lectures taken after P.
Both L and O take lectures in the same month, but that month
is not March. One lecture takes between O and M, who takes
lecture after O. One lecture takes between K and Q, who does
not take lecture in March month. More than three lectures are
taken between P and N.

How many lectures are taken between O and J?

(1) One

(2) Two

(3) Three

(4) Four

(5) None of these



Most Bqpected 250 Questions

@Reasoningbybasantsir

There are eight professors i.e. J, K, L, M, N, O, P and Q. They
take lectures in the month of March, April, May and June on
two different dates 15 and 22. Each professor takes only one
lecture on each date. K’s takes lecture on the odd date and in
the month of having 30 days. The number of lectures taken
before K is the same as the number of lectures taken after P.
Both L and O take lectures in the same month, but that month
is not March. One lecture takes between O and M, who takes
lecture after O. One lecture takes between K and Q, who does
not take lecture in March month. More than three lectures are
taken between P and N.

Who among the following professors takes lectureonlS May?
1) Q

2L

M

@J

(3N



Most Bqpected 250 Questions

@Reasoningbybasantsir

There are eight professors i.e. J, K, L, M, N, O, P and Q. They
take lectures in the month of March, April, May and June on
two different dates 15 and 22. Each professor takes only one
lecture on each date. K’s takes lecture on the odd date and in
the month of having 30 days. The number of lectures taken
before K is the same as the number of lectures taken after P.
Both L and O take lectures in the same month, but that month
is not March. One lecture takes between O and M, who takes
lecture after O. One lecture takes between K and Q, who does
not take lecture in March month. More than three lectures are
taken between P and N.

Who among the following pair of professors takes lectures in
the month of April?

() Land P

(2) Oand Q

(3) L and O

GRENLES,

(5) Either (1)or (3)



Most Bqpected 250 Questions

@Reasoningbybasantsir

There are eight professors i.e. J, K, L, M, N, O, P and Q. They
take lectures in the month of March, April, May and June on
two different dates 15 and 22. Each professor takes only one
lecture on each date. K’s takes lecture on the odd date and in
the month of having 30 days. The number of lectures taken
before K is the same as the number of lectures taken after P.
Both L and O take lectures in the same month, but that month
is not March. One lecture takes between O and M, who takes
lecture after O. One lecture takes between K and Q, who does
not take lecture in March month. More than three lectures are
taken between P and N.

How many lectures are taken before Q?

(1) One

(2) Two

(3) Three

(4) More than three

(5) None



Most Bqpected 250 Questions

@Reasoningbybasantsir

There are eight professors i.e. J, K, L, M, N, O, P and Q. They
take lectures in the month of March, April, May and June on
two different dates 15 and 22. Each professor takes only one
lecture on each date. K’s takes lecture on the odd date and in
the month of having 30 days. The number of lectures taken
before K is the same as the number of lectures taken after P.
Both L and O take lectures in the same month, but that month
is not March. One lecture takes between O and M, who takes
lecture after O. One lecture takes between K and Q, who does
not take lecture in March month. More than three lectures are
taken between P and N.

Who among the following group take lectures

on the month having 31 days?

(1) POM

(2) JPK

(3) NMQ

(4) MNP

(3) PLQ



Most Bxpected 250 Questions \\

«7 @Reasoningbybasantsir

In a certain code language, ‘SHYAM’ is coded as
‘572475339°. How will ‘MOHAN’ be coded as in that
language?

T (T2 e AT, 'SHYAM' S '572475339' &
wﬁmﬁwmw%l 39 HIETH '"MOHAN' &t
ﬁwwmﬁmmv

(1) 394524342

(2) 394543342

R)RERLYRY YY)

C)RELRLYRY:Y)

(5) None of these



Most Bepected 250 Questions \\

«7 @Reasoningbybasantsir

Q.17-

Ravi walks 9 km towards the west then he turns

right and walks 7 km. Again he turns right and

walks S km. Now, he turns left and walks 9 km. In

which direction and how far is he from his starting
point?

T%Qfﬂwsﬁaﬁwﬁsﬁaﬁm%ﬁﬂa%mm%
371X 7 TRt <retaT 81 e foRe & 270 weaT £ o7 5 fRw
AT g T, 9g AT m?ngm%aﬁwﬁm%aﬁm%l
Wmmﬁaﬁﬁﬁqmﬁ 3 ferait 22
(1) 16.49 km, North-west

(2) 11.29 km, South

(3) 12.09 km, East

(4) 10.19 km, South-east

(5) None of these
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Q. 18- In a certain code language,

«7 @Reasoningbybasantsir

‘manager should go office’ is written as ‘la ta ja sa’
‘on time at sharp manager’ is written as‘ja pa ra da’
‘Professional should go on time’ is written as ‘da ta fa la’

What is the code for ‘at’?
(Dra

(2) pa

(3) Either ra or pa

(4) da

(5) None of these



Most Bqpected 250 Questions \\

Q. 19- In a certain code language,

«7 @Reasoningbybasantsir

‘manager should go office’ is written as ‘la ta ja sa’
‘on time at sharp manager’ is written as‘ja pa ra da’
‘Professional should go on time’ is written as ‘da ta fa la’

Which of the following is the code for ‘professional’?
(1) ta

(2) da

3) 1a

(4) fa

(5) None of these
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Q. 20- In a certain code language,

«7 @Reasoningbybasantsir

‘manager should go office’ is written as ‘la ta ja sa’
‘ontime at sharp manager’ is written as‘ja pa ra da’
‘Professional should go on time’ is written as ‘da ta fa la’

Whatdoes ‘ta’ standfor?
(1) Manager

(2) office

(3) professional

(4) Ontime

(5) None of these



Most Bepected 250 Questions \\

«7 @Reasoningbybasantsir

Q. 21-

358, 523, 552, 461, 631

If all the digits of number are arranged in ascending
order within the number, then which of the following
is the 2nd lowest number?

Ife TEIT o GHT 3t i GE&AT & Hia¥ AE Ha |
sgfeerd feram wTg, af feferiaa o & gad g siet
TEAT BT HT 2?2

(1) 358

(2) 461

(3) 523

4) 631

(5) None of these



Most Bqpected 250 Questions \\

«7 @Reasoningbybasantsir

Q. 22-

358, 523, 552, 461, 631

If the 3rd digit of the second number from the left
end is multiplied by the 2nd digit of the 2nd number
from the right then what will be the resultant?

TS ATE DR A ORI HEAT ok A6 37 i T8 AR A
e ST % T 3ieh B TuTT R T At aiuTe
T2

1) 21

2) 30

(3) 18

4) 6

(5) None of these



«7 @Reasoningbybasantsir

Most Bepected 250 Questions i

Q. 23-

358, 523, 552, 461, 631

If 2 is subtracted from the first digit of each number
and 1 is subtracted from the third digit of each
number then which of the following will be the
second-highest number?

Tfe iR AT & UEe 3ich ¥ 2 UTaT WU iR Ucdieh
AT o A 1E 37k O 1 9T A1 at AefeiRga o o
i ©Y TE Hay ISt @A g

(1) 523
(2) 461
(3) 552
4) 631
(5) 358



Most Bqpected 250 Questions \\

«7 @Reasoningbybasantsir

Q. 24-

358, 523, 552, 461, 631

If the first and third digits of every number are
interchanged then which of the following is the third
lowest number?

e Teeh EAT o Ul TR 19X 37eh Rl U |
ga e ST ar Fefeiaa # 9 o a9 oiet
T i ET 22

(1) 358
(2) 552
(3) 523
(4) 461
(5) 631



Most Bqpected 250 Questions \\

«7 @Reasoningbybasantsir

Q. 24-

358, 523, 552, 461, 631

If the second and third digits of every number are
interchanged then find the difference of the highest
and smallest number.

ITe Tk TEAT & T TR dIEX 37 i 3T § 98
fara ATY A TR TSt SR TaH BIE T T i AT
S
(1) 128
2) 328
(3) 228
(4) 127
(5) 28



Most Bpected 250 Questions

Input: 56148 34195 41683 63215 52197
Step 1: 14568 13459 13468 12356 12579
Step I1: 1158 1129 1138 1106 1149
Step I11: 0048 0028 0028 0006 0048
Step IV: 1210 10 06 12

Step V: 061010 12 12

Step VI: 036 10 10 14 14

Input: 43156 92146 81247 53179 69432 47269

«7 @Reasoningbybasantsir



Most Bpected 250 Questions

Input: 56148 34195 41683 63215 52197
Step 1: 14568 13459 13468 12356 12579
Step I1: 1158 1129 1138 1106 1149
Step I11: 0048 0028 0028 0006 0048
Step IV: 1210 10 06 12

Step V: 061010 12 12

Step VI: 036 10 10 14 14

Input: 43156 92146 81247 53179 69432 47269

In the last step, which number is 3rd from the right
end of the given input?

a) 41

b) 16

c) 14

d) 18

e) None of these
«7 @Reasoningbybasantsir



Most Bpected 250 Questions

Input: 56148 34195 41683 63215 52197
Step 1: 14568 13459 13468 12356 12579
Step I1: 1158 1129 1138 1106 1149
Step I11: 0048 0028 0028 0006 0048
Step IV: 1210 10 06 12

Step V: 061010 12 12

Step VI: 036 10 10 14 14

Input: 43156 92146 81247 53179 69432 47269

What is the sum of last three numbers in step IV of
the given input?

a) 30

b) 58

c) 46

d) 40

e) None of these
] @Reasoningbybasantsir



Most Bpected 250 Questions

Input: 56148 34195 41683 63215 52197
Step 1: 14568 13459 13468 12356 12579
Step I1: 1158 1129 1138 1106 1149
Step I11: 0048 0028 0028 0006 0048
Step IV: 1210 10 06 12

Step V: 061010 12 12

Step VI: 036 10 10 14 14

Input: 43156 92146 81247 53179 69432 47269

Which number is 4th from the left end in step II of the
given input?

a) 1129
b) 1159
¢) 1126
d) 2936
e) None of these

«7 @Reasoningbybasantsir



Most Bpected 250 Questions

Input: 56148 34195 41683 63215 52197
Step 1: 14568 13459 13468 12356 12579
Step I1: 1158 1129 1138 1106 1149
Step I11: 0048 0028 0028 0006 0048
Step IV: 1210 10 06 12

Step V: 061010 12 12

Step VI: 036 10 10 14 14

Input: 43156 92146 81247 53179 69432 47269

What is the absolute difference of the 3rd number
from right end in step III and 2nd number from the left
end in step I11?
a) 37
b) 26
¢) 25
d) 20
e) None of these
] @Reasoningbybasantsir



Most Bpected 250 Questions

Input: 56148 34195 41683 63215 52197
Step 1: 14568 13459 13468 12356 12579
Step I1: 1158 1129 1138 1106 1149
Step I11: 0048 0028 0028 0006 0048
Step IV: 1210 10 06 12

Step V: 061010 12 12

Step VI: 036 10 10 14 14

Input: 43156 92146 81247 53179 69432 47269

Which among the following is the first number from
left end in step IV of the given input?

a) 08

b) 10

¢) 16

d) 18

e) None of these

«7 @Reasoningbybasantsir
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